[ Efficiency vs vertpos |

.....................................

...................................

T I—z—---#ﬁﬁ-@

o

10 0
TP vertr (cr%)

2

—=— DQMstep3_QCD_CKF

— —e— DQMstep3_QCD_default
Efficiend _, _ poMstep3_QCD_defaultNEWT

~ 0.021

9.

<) - . .
:0.016_— ------ - -----
> B :
@.014_— ------ e -
o n : :
8.012----- S R
a’ .

0.008F -+ | {fi e
0.006F : : :
0.004F
0.002

T

O

..........

..........

O

Ratio

10

20 30

TP vert z (cm)

~ 0.0

108'642024

6810

Sim. PV z (cm)




	Contents
	Page 1


